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EXETERZE (K01)

THE4 [Refit fik)ll & -JbEmE~dEH WIHERES (2) FEX L1 HERF - 27
THEX 5y AT HERE
THERXSy - T - &R - 5 Hirs AL Yo B &FA Yo - S T
AT HERE
= 1 1,765, 507
FREL T
= 1 1, 425, 077
LEBARRE T
= 1 1, 425, 077
LEFSBRE (A H 15
m2 25, 100 32.34 811,734
TEH (CRPHBRED) H 25
R T A~
L=7. 0OkmPA F Tm2 25. 4, 436 111, 343 — BT AT HT S (L
FRELALSY H 35
m2 25, 100 20 502, 000
& L
= 1 76, 730
JEEIRALEE T
= 1 76, 730
T BB AL e B 45
Tm2 25. 3, 057 76, 730
I T
= 1 263, 700
AT
= 1 263, 700
R B A W 5
UNE! 9 15, 500 139, 500
R B B TN
A H 9 13, 800 124, 200
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= 1, 765, 507
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2V 142, 000
W T
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T
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N NN 2 BAME A4 A 2024. 05
1 /k Effﬂﬁié A i 4E A 2024. 05
TSI 1.000-00000 0.0 0
o [BEPSRRE (A
o AL n2 B | e 19 34
TR - R Atk BT HE HA &% g
BRI, SEHT (HEA) , A ARH AR ONIE150cm) , HELEE L,
FEIA - i) e ) B 077 Vo) Ghyn=b -7 4=t b 2t FE)
m2 32. 34 32. 34
e 32. 34
EAAL 32.34| M,/ m2
N NAWA HAffE A 2024. 05
1 KR E]ﬁﬁi@ S 1] 2024. 05
S IR 1.000-00000 0.0 0
W oo TE GEBGERED
HT Fm2 AT i HA 4436
L=7. OkmPL T ,
R - R Atk BT HE HA &% g
T CRPIBRELD) BT Vv Gre=b o5 = v 2t EE),
MRAEEEL, AV, 7. 0kmbA T, 2 TO%H
A Fm2 4,436 4, 436
At 4,436
Hifi 4,436 M/ Tm2
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N NN 2 BAME A4 A 2024. 05
1 /k Effﬂﬁié A i 4E A 2024. 05
TSI 1.000-00000 0.0 0
o | BRITALSY
R AL n2 B Looo | %
A - B e BT HE B &% s
L5y (t)
t 20, 000 20, 000
NI 20, 000
EAAL 20 M,/ m2
N NAWA HAffE A 2024. 05
1 /k Effﬂﬂié A i 4 A 2024. 05
S IR 1.000-00000 0.0 0
T R BETT LR
BT Fm2 AT ] B 3. 057
A - B e BT HE B &% s
HOEBEST AR INEE - S5 - BEA T2 D Fx
Tm2 3, 057 3, 057
it 3,057
HL i 3,057 M,/ Fm2
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